Base Bid Schedule - Roadway

City of Arlington Airport Blvd Phase 1A

NOTE: All entries must be typed or written in ink. Unit prices for all items, all extensions, lump sum prices, and the total amount of bid must be shown. Show unit prices in both words and figures; where conflicts occur, the written words will take precedence and be used to determine the total amount bid. The total bid amount shall include all work as included in the contract documents and applicable tax.

\$ 818,000.00

Item	DESCRIPTION	WSDOT Standard	WSDOT Spec	Approx.	UNIT	Unit Price	\$ Total Price
No.		Item No.	Ref Sect	Quantity			
	PREPARATION						
101	MOBILIZATION (Unit Price in Words)	0001	1-09.7	1	L.S.	\$ 55,000.00	\$ 55,000.00
102	REMOVAL OF STRUCTURE AND OBSTRUCTION (Unit Price in Words)	0050	2-02.5	1	L.S.	\$ 1,500.00	\$ 1,500.00
103	REMOVING ASPHALT CONC. PAVEMENT (Unit Price in Words)	0120	GSP	310	S.Y.	\$ 3.50	\$ 1,085.00
104	CLEARING AND GRUBBING (Unit Price in Words)	0025	2-01.5	4.0	ACRE	\$ 2,000.00	\$ 8,000.00
105	SAWCUT EXISTING PAVEMENT (Unit Price in Words)		SP	2124	L.F.	\$ 1.50	\$ 3,186.63
	EROSION CONTROL AND ROADSIDE RESTORATION						
107	WATTLE (Unit Price in Words)	6479	8-01.5	2400	L.F.	\$ 5.00	\$ 12,000.00
108	INLET PROTECTION (Unit Price in Words)	6471	8-01.5	14	EACH	\$ 75.00	\$ 1,050.00
109	TIRE WASH (Unit Price in Words)	6469	8-01.5	1	EACH	\$ 8,000.00	\$ 8,000.00
110	EROSION/WATER POLLUTION CONTROL (Unit Price in Words)	6490	8-01.5	1	EST.	\$ 2,000.00	\$ 2,000.00
111	SEEDING AND FERTILIZING (Unit Price in Words)	6412	8-01.5	1.1	ACRE	\$ 3,000.00	\$ 3,300.00
112	TOPSOIL TYPE B (Unit Price in Words)	6410	8-01.5	1,110	C.Y.	\$ 8.00	\$ 8,880.00
113	RAIN GARDEN SOIL MIX (Unit Price in Words)	_	GSP	1,770	C.Y.	\$ 8.00	\$ 14,160.00
	GRADING						
114	ROADWAY EXCAVATION INCL. HAUL (Unit Price in Words)	0310	2-03.5	3780	C.Y.	\$ 16.00	\$ 60,480.00
	SURFACING						
115	CRUSHED SURFACING BASE COURSE (Unit Price in Words)	5100	4-04.5	5982	TON	\$ 20.00	\$ 119,635.39
116	CRUSHED SURFACING TOP COURSE (Unit Price in Words)	5120	4-04.5	322	TON	\$ 24.00	\$ 7,723.75
117	QUARRY SPALLS (Unit Price in Words)	1086	4-04.5	1462	TON	\$ 24.00	\$ 35,091.62
	HOT MIX ASPHALT						
118	LONGITUDINAL JOINT SEAL (Unit Price in Words)	6514	5-04.5	1988	L.F.	\$ 0.90	\$ 1,789.58
119	HMA FOR PAVEMENT CL. 1/2 IN. PG 64-22 (Unit Price in Words)	5739	5-04.5	2928	TON	\$ 80.00	\$ 234,223.34

Base Bid Schedule - Roadway

City of Arlington Airport Blvd Phase 1A

NOTE: All entries must be typed or written in ink. Unit prices for all items, all extensions, lump sum prices, and the total amount of bid must be shown. Show unit prices in both words and figures; where conflicts occur, the written words will take precedence and be used to determine the total amount bid. The total bid amount shall include all work as included in the contract documents and applicable tax.

\$ 818,000.00

								\$ 818,000.00
Item No.	DESCRIPTION	WSDOT Standard Item No.	WSDOT Spec Ref Sect	Approx. Quantity	UNIT		Unit Price	Total Price
	TRAFFIC							
120	PAINT LINE (Unit Price in Words)	6806	8-22.5	14100	L.F.	\$	0.55	\$ 7,755.00
121	PLASTIC CROSSWALK LINE (Unit Price in Words)	6857	8-22.5 SP	1440	S.F.	\$	3.00	\$ 4,320.00
122	PLASTIC STOP LINE (Unit Price in Words)	6859	8-22.5	26	L.F.	\$	5.13	\$ 133.38
123	PLASTIC TRAFFIC ARROW (Unit Price in Words)	6833	8-22.5	18	EACH	\$	65.00	\$ 1,170.00
124	PLASTIC BICYCLE LANE SYMBOL (Unit Price in Words)	6867	8-22.5	21	EACH	\$	65.00	\$ 1,365.00
125	PERMANENT SIGNING (Unit Price in Words)	6890	8-21.5	1	L.S.	\$	5,000.00	\$ 5,000.00
126	PROJECT TEMPORARY TRAFFIC CONTROL (Unit Price in Words)	6971	1-10.5	1	L.S.	\$	5,000.00	\$ 5,000.00
	OTHER							
127	ROADWAY SURVEYING (Unit Price in Words)	7038	7-05.5	1	L.S.	\$	8,000.00	\$ 8,000.00
128	MONUMENT CASE AND COVER (Unit Price in Words)	7045	8-13.5	5	EACH	\$	200.00	\$ 1,000.00
129	CEMENT CONC. SIDEWALK (Unit Price in Words)	7055	8-14.5	3125	S.Y.	\$	37.00	\$ 115,625.00
130	CEMENT CONC. CURB RAMP TYPE COMBINATION (Unit Price in Words)	7058	8-14.5	7	EACH	\$	1,600.00	\$ 11,200.00
131	CEMENT CONC. CURB RAMP TYPE PARALLEL (Unit Price in Words)	7058	8-14.5	1	EACH	\$	1,600.00	\$ 1,600.00
132	TRIMMING AND CLEANUP (Unit Price in Words)	7490	2-11.5	1	L.S.	\$	2,000.00	\$ 2,000.00
133	CONSTRUCTION GEOTEXTILE FOR UNDERGROUND DRAINA (Unit Price in Words)	7550	7-04	5170	S.Y.	\$	2.50	\$ 12,925.00
134	UNFORSEEN CONDITIONS FORCE ACCOUNT (Unit Price in Words)	7715	1-09.6	1	EST.	\$	20,000.00	\$ 20,000.00
135	REIMBURSEMENT FOR THIRD PARTY DAMAGE (Unit Price in Words)	7725	1-07.13(4)	1	EST.	\$	500.00	\$ 500.00
136	SPCC PLAN (Unit Price in Words)	7736	1-07.15(1)	1	L.S.	\$	500.00	\$ 500.00
137	RECORD DRAWINGS (Unit Price in Words)		GSP, 1-05	1	L.S.	\$	1,000.00	\$ 1,000.00
138	TYPE B PROGRESS SCHEDULE (Unit Price in Words)	7003	1-08.3, SP	1	L.S.	\$	2,000.00	\$ 2,000.00
						e	btototal	\$ 778.198.69

 Subtototal
 \$ 778,198.69

 Contingency
 \$ 39,801.31

 TOTAL
 \$ 818,000.00

Base Bid Schedule - Utilities

City of Arlington

Airport Blvd Phase 1A

NOTE: All entries must be typed or written in ink. Unit prices for all items, all extensions, lump sum prices, and the total amount of bid must be shown. Show unit prices in both words and figures; where conflicts occur, the written words will take precedence and be used to determine the total amount bid. The total bid amount shall include all work as included in the contract documents and sales tax.

173,000.00 WSDOT WSDOT Item Approx. UNIT DESCRIPTION Standard Spec **Unit Price Total Price** Quantity No. Item No. Ref Se **PREPARATION** 201 **MOBILIZATION** L.S. 12,000.00 12,000.00 (Unit Price in Words) REMOVAL OF STRUCTURE AND OBSTRUCTION 202 0050 2-02.5 L.S. 2.000.00 2,000.00 (Unit Price in Words) WATER HYDRANT ASSEMBLY 203 3846 7-14.5 **EACH** 3,800.00 7,600.00 (Unit Price in Words) RESETTING EXISTING HYDRANTS 204 3848 7-14.5 11 EACH \$ 2,500.00 27,500.00 (Unit Price in Words) DUCTILE IRON PIPE FOR WATER MAIN 6 IN. DIAM. 205 3866 7-09.5 20 L.F. 52.00 1,040.00 (Unit Price in Words) 206 DUCTILE IRON PIPE FOR WATER MAIN 8 IN. DIAM. 3867 7-09.5 166 L.F. 50.00 8,300.00 (Unit Price in Words) 207 GATE VALVE 6 IN. 6155 7-12.5 2 EACH 1,000.00 2,000.00 (Unit Price in Words) 208 GATE VALVE 8 IN. EACH 6,600.00 6160 7-12.5 6 1.100.00 (Unit Price in Words) 209 WATER SERVICE CONNECTION 1 IN. DIAM. (>30') 3858 7-15.5, GSF EACH 850.00 850.00 (Unit Price in Words) 210 WATER SERVICE CONNECTION 1 IN. DIAM. (<30') 3858 7-15.5, GSI **EACH** 12 830.00 9,960.00 (Unit Price in Words) **SEWER** 7-05.5 211 CONNECTION TO DRAINAGE STRUCTURE 9605 EACH 600.00 1,200.00 (Unit Price in Words) 212 PVC SANITARY SEWER PIPE 6 IN. DIAM. 3766 7-17.5 790 L.F. 28.00 22,120.00 (Unit Price in Words) PVC SANITARY SEWER PIPE 8 IN. DIAM. 7-17.5 213 3767 145 L.F. 30.00 4,350.00 (Unit Price in Words) 214 PVC SANITARY SEWER PIPE 12 IN. DIAM. 3769 7-17.5 L.F. 33.00 7,425.00 (Unit Price in Words) EACH 3,500.00 215 MANHOLE 48 IN. DIAM. TYPE 7,000.00 7360 7-17.5 2 (Unit Price in Words) OTHER SHORING OR EXTRA EXCAVATION CLASS B 7008 2-09.5 30850 S.F. 0.75 23,137.50 (Unit Price in Words) ADJUST WATER VALVE BOX 217 SP EACH 200.00 46 9,200.00 (Unit Price in Words) 218 ADJUST MANHOLE 3080 4 **EACH** 450.00 1,800.00 (Unit Price in Words) Subtototal 154.082.50 8.6% Sales Tax 13,251.10 Contingency TOTAL 5,666.41 173.000.00

Add Alternate 1 Bid Schedule - Overlay

City of Arlington Airport Blvd Phase 1A

NOTE: All entries must be typed or written in ink. Unit prices for all items, all extensions, lump sum prices, and the total amount of bid must be shown. Show unit prices in both words and figures; where conflicts occur, the written words will take precedence and be used to determine the total amount bid. The total bid amount shall include all work as included in the contract documents and applicable tax.

Item No.	DESCRIPTION	WSDOT Standard Item No.	WSDOT Spec Ref Sect	Approx. Quantity	UNIT	Unit Price			Total Price
	PREPARATION								
501	MOBILIZATION (Unit Price in Words)	0001	1-09.7	1	L.S.	\$	4,000.00	\$	4,000.00
	HOT MIX ASPHALT								
502	PLANING BITUMINOUS PAVEMENT (Unit Price in Words)	5711	5-04.5	1350	S.Y.	\$	5.00	\$	6,750.00
503	HMA FOR PAVEMENT CL. 1/2 IN. PG 64-22 (Unit Price in Words)	5739	5-04.5	540	TON	\$	80.00	\$	43,200.00
						Subto		\$	53,950.00
						Conti	ngency	<u>\$</u> \$	2,650.00 56,600.00

Add Alternate 2 Bid Schedule - Curb

City of Arlington Airport Blvd Phase 1A

NOTE: All entries must be typed or written in ink. Unit prices for all items, all extensions, lump sum prices, and the total amount of bid must be shown. Show unit prices in both words and figures; where conflicts occur, the written words will take precedence and be used to determine the total amount bid. The total bid amount shall include all work as included in the contract documents and applicable tax.

Item No.	DESCRIPTION	WSDOT Standard Item No.	WSDOT Spec Ref Sect	Approx. Quantity	UNIT	Unit Price	Total Price
	PREPARATION						
401	MOBILIZATION (Unit Price in Words)	0001	1-09.7	1	L.S.	\$ 5,000.00	\$ 5,000.00
	TRAFFIC						
402	CEMENT CONC. TRAFFIC CURB AND GUTTER (Unit Price in Words)	6700	8-04.5	4900	L.F.	\$ 25.00	\$ 122,500.00
						Subtototal	\$ 127,500.00
						Contingency	\$ 4,500.00

TOTAL

132,000.00

Add Alternate 3 Bid Schedule - Plantings

City of Arlington Airport Blvd Phase 1A

NOTE: All entries must be typed or written in ink. Unit prices for all items, all extensions, lump sum prices, and the total amount of bid must be shown. Show unit prices in both words and figures; where conflicts occur, the written words will take precedence and be used to determine the total amount bid. The total bid amount shall include all work as included in the contract documents and applicable tax.

170,000.00

Item No.	DESCRIPTION	WSDOT Standard Item No.	WSDOT Spec Ref Sect	Approx. Quantity	UNIT		Unit Price	Total Price
	PREPARATION							
301	MOBILIZATION (Unit Price in Words)	0001	1-09.7	1	L.S.	\$	4,000.00	\$ 4,000.00
	EROSION CONTROL AND ROADSIDE RESTORATION							
302	PSIPE CAPITAL PEAR (Unit Price in Words)	6552	7-05.4	39	EACH	\$	135.00	\$ 5,265.00
303	PSIPE RED SUNSET (Unit Price in Words)	6552	7-05.4	24	EACH	\$	155.00	\$ 3,720.00
304	PSIPE DWARF REDWIG DOGWOOD (Unit Price in Words)	6552	7-05.4	30	EACH	\$	38.75	\$ 1,162.50
305	PSIPE SALAL (Unit Price in Words)	6552	7-05.4	60	EACH	\$	26.25	\$ 1,575.00
306	PSIPE MOCK ORANGE (Unit Price in Words)	6552	7-05.4	60	EACH	\$	38.50	\$ 2,310.00
307	PSIPE STAR MAGNOLIA (Unit Price in Words)	6552	7-05.4	12	EACH	\$	46.50	\$ 558.00
308	PSIPE LEATHERLEAF VIBURNUM (Unit Price in Words)	6552	7-05.4	60	EACH	\$	41.50	\$ 2,490.00
309	PSIPE HEATHER SPECIES (Unit Price in Words)	6552	7-05.4	392	EACH	\$	4.50	\$ 1,764.00
310	PSIPE GROUND COVER (Unit Price in Words)	6552	7-05.4	23,148	S.F.	\$	6.30	\$ 145,832.40
						Sul	otototal	\$ 164,676.90

 Subtototal
 \$ 164,676.90

 Contingency
 \$ 5,323.10

 TOTAL
 \$ 170,000.00